Teddy has £8
Rosie has twice as much money as Teddy.

How much money does Rosie have?

Write a fact from the 2 times-table to match
the picture.
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How much money does Ron have?

OO
OO

How many cookies are there?
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A sandwich costs £2 and a box of crayons
costs £5

Jack buys 5 sandwiches and 3 boxes of crayons.

How much does he spend in total?

Eva is 7 years old.
Her gran is 10 times older.

How old is Eva’s gran?

Four children each have some money.

Teddy has this money. @@

I have twice

as much money
as Teddy.

I have five times
as much money
as Teddy.

I have ten times
as much money
Jack

e

as Dora.

How much money do they each have?



